
287 m³      =       ........................................................................................................     hL

41,297 dL      =       ........................................................................................................     L

5588 cg      =       ........................................................................................................     mg

746,055 km²      =       ........................................................................................................     dam²

361 gram      =       ........................................................................................................     ons

88,81 cm³      =       ........................................................................................................     mL

191,2 mm      =       ........................................................................................................     dam

95 kg      =       ........................................................................................................     hg

9,41 cm³      =       ........................................................................................................     mL

54 L      =       ........................................................................................................     cL

5000 gram      =       ........................................................................................................     pond

8,5 cL      =       ........................................................................................................     dL

8,156 cL      =       ........................................................................................................     dL

563,079 L      =       ........................................................................................................     cL

865 dL      =       ........................................................................................................     cL



287 m³      =     287000 dm³      =     287000 L      =     2870 hL

41,297 dL      =     4,1297 L

5588 cg   =   55880 mg

746,055 km²      =     7460550 dam²     (komma 2 x 2 plaatsen naar rechts)

361 gram   =   3,61 ons

88,81 cm³      =     0,08881 dm³      =     0,08881 L      =     88,81 mL

191,2 mm      =     0,01912 dam     (komma 4 plaatsen naar links)

95 kg   =   9,5 hg

9,41 cm³      =     0,00941 dm³      =     0,00941 L      =     9,41 mL

54 L      =     5400 cL

5000 gram   =   5 kilo   =   10 pond

8,5 cL      =     0,85 dL

8,156 cL      =     0,8156 dL

563,079 L      =     56307,9 cL

865 dL      =     8650 cL


